







3707 Airport Way S. Seattle, Washington 98134

TF: (800) 255-7383

Branch: Seat Total Invoice: \$19,454.39

Customer: 801156

Repair Order: 219659

Open Account - Charge

Invoice: 021R219659

Date / Hour: 11/30/2021 4:04:38PM

Page 1 of 4

Bill To: Grady Excavating, Inc.

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Ship To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Work: (425) 423-7932 Shop: 425-423-7932

Customer P/O: Completion Date: 11/30/2021 G-69 matthew.austin ataylor Orig R/O: 0

Unit Number: G-69 Model Year: 2016 Make/Model: Peterbilt 367 Type: Truck VIN: 1NPTX4EX5GD319251 Meter: 415234 Miles In-Service Date: 07/22/2015 ECM Reading: 15276

3 521 **Engine Assembly - Miscellaneous Repair** Task: Department: Service

Complaint: Check Engine Light Cause: EDS case# DSBZH7675

Correction: Connected with Insite, has no active faults. 2 most recent faults are 2387 15hrs old, for 11 counts, and 3725 7hrs old one count. Troubleshot 2387

through EDS case# DSBZH7675. Followed EDS and found turbo sector shaft binds/sticks through travel.

Drained coolant, removed VGT actuator, and found sector shaft sticking, needs turbo. Removed charge air piping, air cleaner piping, exhaust

piping, turbo plumbing, and turbo. Installed new turbo studs, turbo, and nuts.

Installed turbo plumbing with new seals. Installed and calibrated VGT actuator. Filled with coolant, cleared codes.

Supp.	Part		Description / Ref Number	U/M	Quantity	Price	Extended Price
CUM10		3687296CUM	CLAMP-V BAND	EA	1.0	\$44.47	\$44.47
CUM15	i	4034289RX	KITVG TUR ACT SERVICE	EA	1.0	\$1,172.62	\$1,172.62
****	**SHIF	P UPS GROUND ACC 868405 *******					
CUM15	i	4034289RX-C	ACTUATOR	EA	1.0	\$166.21	\$166.21
****	**SHIF	P UPS GROUND ACC 868405 *******					
CUM10	ı	4298242CUM	STUD	EA	4.0	\$12.44	\$49.76
CUM10	1	4298975CUM	NUT-LOCK	EA	4.0	\$6.95	\$27.80
CUM10	1	5458260RXCUM	KIT, TURBOCHARGER	EA	1.0	\$5,462.34	\$5,462.34
CUM10	1	5458260RXCUM-C	KIT, TURBOCHARGER-Core	EA	1.0	\$809.38	\$809.38
CUM10	1	5458260RXCUM-C	KIT, TURBOCHARGER-Core	EA	-1.0	\$809.38	(\$809.38)
CUM15	i	4034289RX-C	ACTUATOR	EA	-1.0	\$166.21	(\$166.21)
				Task 3 Subtotals	Par	ts:	\$6,756.99
					Core Ch	ng:	\$975.59
					Core R	et:	(\$975.59)
					Lab	or:	\$844.90
					Task 3 Subtota	als S	\$7,601.89

Task: 512 Transmission - Manual - Miscellaneous Repair

Complaint: Trans problem with range shifting false neutral.

If transmission is replaced I would like to have the following completed:

rear main replaced new cross shafts new clutch arm new clutch fork

Cause: Failed transmission range finder.

Department: Service







3707 Airport Way S. Seattle, Washington 98134

TF: (800) 255-7383

Invoice: 021R219659

Date / Hour: 11/30/2021 4:04:38PM

Repair Order: 219659 Customer: 801156 Branch: Seat

Total Invoice: \$19,454.39

Open Account - Charge

Page 2 of 4

Bill To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045 Ship To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Work: (425) 423-7932 Shop: 425-423-7932

Customer P/O: G-69 matthew.austin ataylor Orig R/O: 0 Completion Date: 11/30/2021

Correction: Inspected for range finder not working properly, and found oil in splinter air lines. Drained trans, removed drive lines, pto pump, pto, grease lines, air lines, wiring harness, trans cooler, rear support bracket, floor panel, shift tower, clutch linkage, and trans.

Removed clutch and flywheel. Removed rear main, cleaned crank, and housing. Installed new rear main, seal. Removed transmission clutch housing, sensors, and fittings from old trans. Spent 1.5hrs trying to removed transmission yoke. Ordered new yoke. Installed fittings, sensors, and clutch housing on new trans. Installed new cross shaft bushings, cross shafts, clutch fork, clutch arm, and clutch brake on new trans. Replaced 9 leaking air fittings, for air dryer, seat, and trans. Aired up truck, and found it still has some air leaks. Replaced 2 more air fittings that were leaking under cab. Installed pilot bearing in flywheel, then installed flywheel. Installed new transmission output yoke. Installed clutch, and transmission. Installed transmission cooler clutch linkage, transmission rear support bracket, grease lines, air lines, and removed pto cover plate. Installed shift tower, floor panel, pto, pto pump, drive line, filled transmission, and greased.

	,,,,,					Extended
Supp. Part		Description / Ref Number	U/M	Quantity	Price	Price
PACPR	06-00530	SHAFT **	EA	1.0	\$40.66	\$40.66
PTBPR	06-00715	LEVER **	EA	1.0	\$63.75	\$63.75
PTBPR	06-01093	SHAFT-CLUTCH P123	EA	1.0	\$53.48	\$53.48
EXM10	122205EXX	MOBIL DELVAC 1 TRANS FL 5	EA	40.0	\$5.43	\$217.20
FUL10	12815	BUSHING(20EA=1BAG)	EA	4.0	\$3.46	\$13.84
Phillips15	12-93042DSP	FITTING-MALE PUSHLCK 1/4"	EA	3.0	\$2.37	\$7.11
Phillips15	12-93086DSP	FITTING-MALE PUSHLCK 1/2"	EA	2.0	\$5.84	\$11.68
Phillips15	12-94106DSP	FITTING-ML ELBOW PUSHLCK	EA	1.0	\$11.24	\$11.24
Phillips15	12-95044DSP	FITTING-STRGHT UNION PUSH	EA	1.0	\$3.54	\$3.54
SEA21	18.	FLYWHEEL TURN	EA	1.0	\$107.53	\$107.53
SPC10	250-70-18X	KIT-BEARING RETAINER	EA	2.0	\$16.21	\$32.42
SEA21	28P41WEL	O-RING	EA	1.0	\$2.31	\$2.31
SEA21	28P42WEL	O-RING	EA	2.0	\$1.49	\$2.98
ETN10	308925-25	EP 15.5 2050 TORQ VCT D	EA	1.0	\$952.25	\$952.25
CHL10	35P15-1	GASKET-HOUSING MOUNT.010	EA	1.0	\$0.96	\$0.96
CHL10	35P15-2	GASKET-HOUSING MOUNT.020	EA	1.0	\$1.21	\$1.21
CHL10	35P8	GASKET-COVER	EA	1.0	\$1.18	\$1.18
FUL10	4305294	GASKET-SHIFT LEVER HOUSIN	EA	1.0	\$7.54	\$7.54
CUM10	4965569CUM	SEAL-CRANKSHAFT REAR	EA	1.0	\$80.05	\$80.05
FUL10	5505572	YOKE	EA	1.0	\$375.99	\$375.99
Tac Scr15	619-126	2" ROLOC MAROON MED	EA	2.0	\$1.42	\$2.84
Tac Scr15	619-C02T	3M SCOTCH-BRITE	EA	1.0	\$1.34	\$1.34
BCA10	6306LLUA1C3/2E	BEARING	EA	1.0	\$14.03	\$14.03
Tac Scr15	674-435	1/4 BULHEAD UNION PUSHLOK	EA	1.0	\$8.70	\$8.70
Tac Scr15	674-445	1/4 UNION TEE PUSHLOK	EA	2.0	\$7.67	\$15.34
Tac Scr15	678-301	BUSHING	EA	1.0	\$0.55	\$0.55
Tac Scr15	679-402	ELBOW	EA	1.0	\$1.93	\$1.93
WEL10	RTLO18918BPHWEL-C	18 Speed transmission -Core	EA	-1.0	\$3,671.58	(\$3,671.58)
TRP	9216TRP	CLAMP-HOSE W/LINER #16	EA	2.0	\$1.28	\$2.56
Levins15	AMRPZAA734	ZEP N/C BRAKE CLNR 12/14OZ	EA	4.0	\$3.81	\$15.24
DYC10	AP2444	ADAPTER-PIPE BRS HXADPTR	EA	2.0	\$4.03	\$8.06
TRP	CF105C137	FORK-CLUTCH RELEASE 14X1	EA	1.0	\$23.76	\$23.76
PTBVN	G90-6083	VALVE-PRESSURE PROTECTION	EA	1.0	\$43.45	\$43.45

^{**} See Last Page for Invoice Total **



DOBBS PETERBILT





3707 Airport Way S. Seattle, Washington 98134

TF: (800) 255-7383

Invoice: 021R219659

Date / Hour: 11/30/2021 4:04:38PM

Repair Order: 219659 Customer: 801156 Branch: Seat

Total Invoice: \$19,454.39

Open Account - Charge

Page 3 of 4

Bill To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045 Ship To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Work: (425) 423-7932 Shop: 425-423-7932

Customer P/O: G-69		matthew.austin ataylor	Orig R/O	0	Completion Date:	11/30/2021	
AutoPDC	GZ200025-001	STEM T PUSH TO CONN 1/4-CSL	EA	1.0	\$19.42	\$19.42	
FUL10	K4148	KIT-SPEED SENSOR	EA	1.0	\$42.55	\$42.55	
WEL10	RTLO18918BPHWEL	18 Speed transmission	EA	1.0	\$5,029.56	\$5,029.56	
WEL10	RTLO18918BPHWEL-C	18 Speed transmission -Core	EA	1.0	\$3,671.58	\$3,671.58	
TAC25	SB200	CLUTCH BRAKE-BABCOCK	EA	1.0	\$23.27	\$23.27	
		Tasl	4 Subtotals	Parts	:	\$7,239.52	
				Core Chg	:	\$3,671.58	
				Core Ret	:	(\$3,671.58)	
				Labor	:	\$3,055.92	
			Ta	ask 4 Subtotals	3	\$10,295.44	
Detail Tax Info:				Total Parts:	· \$	13.996.51	

Sales Tax \$1,557.06 Total: \$1,557.06

Total Parts: \$13,996.51

Total Core Charge: \$4,647.17

Total Core Ret: (\$4,647.17)

Total Labor: \$3,900.82

Invoice Subtotal: \$17,897.33

Total Tax: \$1,557.06

Total Invoice: \$19,454.39

 Payment Method
 Terms
 Due Date

 Open Account - Charge
 Net 30 Days
 12/30/2021

Remit To: -

Dobbs Peterbilt - Seattle, WA

P.O. Box 35144 #1022

Seattle, WA 98124-5144







3707 Airport Way S. Seattle, Washington 98134

TF: (800) 255-7383

Invoice: 021R219659

Date / Hour: 11/30/2021 4:04:38PM

Repair Order: 219659 Customer: 801156 Branch: Seat

Total Invoice: \$19,454.39 ***Open Account - Charge***

Page 4 of 4

Bill To: Grady Excavating, Inc.

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Ship To: Grady Excavating, Inc

46832 SE MIDDLE FORK RD NORTH BEND, WA 98045

Work: (425) 423-7932 Shop: 425-423-7932

Customer P/O: G-69 matthew.austin Orig R/O: 0 Completion Date: 11/30/2021 ataylor

LIMITED WARRANTY

Dobbs Peterbilt, LLC and Western Truck Parts and Equipment Company, LLC (WTPE) are wholly owned subsidiaries of GWP Holding LLC. ("The Company"). WTPE does buisness as Western Truck Center and Western Peterbilt.

WHO IS COVERED: The company offers this limited warranty to only you, the customer listed on this repair order/invoice. It cannot be transferred to any other person. WHAT IS COVERED: The Companywarrants the workmanship of our labor performed in conjunction with repairs for 90 days (the "Warranty Period"). Said Warranty Period commence on the date ("Invoice Date") that the repairs are completed. The following items will void this Limited Warranty; if the failure was caused by misuse, abuse, lack of or improper maintenance, accident, alterations, overheating, and/or lack of lubrication or coolant. For any failure caused by the company's workmanship (labor) covered by this Limited Warranty, the company will either repair or replace such failure, at its option, in a the company facility,

YOUR RESPONSIBILIES: All items must be returned to our shop with transportation charges prepaid for our inspection and determination within 60 days from the date of the sales invoice covering said items. The customer is required to return the vehicle to the company or authorized repair facility at the customers expense, You must retain copies of your Repair Orders/Invoices, and, upon request, be able to present them to us when requesting coverage under this Limited Warranty. Upon return of the vehicle to you, you must pay for any parts, labor, products, expenses, freight and taxes that the company is not obligated to provide or pay for under this Limited Warranty

WHAT IS NOT COVERED: Repairs which are still covered by a manufacturer's warranty or recall or other third party warranty/service contract. The company's Limited Warranty shall be secondary to any such warranty or service contract that provides coverage for repair claims covered hereunder. Damage caused by you for failure to use manufacturer approved fluids, or the lack thereof, including but not limited to oil, antifreeze, and DEF. Any failure or damage resulting from your failure to perform maintenance in accordance with the manufacturer's recommendations; your failure to maintain appropriate fluid levels (e.g. oil, water, DEF, transmission fluid); your continued operation of the vehicle after warning light notification; modification or operation of the vehicle in a manner that is not in conformance with the manufacturer's specifications or intended use; an accident or collision; your use of improper or contaminated fluids including fuel, and/or misuse, abuse, tampering, negligence, theft, vandalism, or acts of nature or God. Parts installed and/or repairs performed on vehicles used primarily for off road competition or engaging in a contest of speed or endurance of any type.

INSPECTION RIGHTS: The company reserves the right to inspect the vehicle and any parts removed from or installed in the vehicle both prior to and after a repair is performed pursuant to a claim made under this Limited Warranty

EXCLUSIVE REMEDY: The performance of labor to effect repairs is the exclusive remedy available under this written Limited Warranty

IMPLIED WARRANTY DISCLAIMER: The only warranty on parts and products sold in conjunction with repairs performed by the manufacturer or supplier of said parts or products. Except for the limited warranty on the workmanship of our labor, the company expressly disclaims all implied warranties including any implied warranties of the merchantability and fitness for a particular purpose for any period beyond the warranty period.

NO ASSUMPTION OF LIABILITY: The company does not authorize any other person to assume for it any liability in connection with the sales of any parts or products of this repair. THE FOLLOWING APPLIES TO ALL OF OUR CUSTOMERS

STORAGE CHARGES: I understand and agree that a daily storage charge may be assessed if I fail to pick up the vehicle after being notified that the repairs have been completed. Storage charges will accrue at the rate of \$45.00 per day beginning 15 days after the repair has been completed. Storage fees will also accrue at the same charge if I fail to authorize repairs to be performed within three days after the data of communication from the company.

DISASSEMBLY/REASSEMBLY CHARGES: If you authorize disassembly of the vehicle or a vehicle component to provide an estimate or commencement of repairs and do not authorize completion of a repair or service, a charge will be imposed for disassembly, reassembly or partially completed work and you agree to pay the same. Such charges will be directly related to the actual amount of labor and parts involved in the inspection, repair or service. I have been advised that disassembly of the vehicle may prevent restoration of the vehicle to its prior condition

DELAYS AND LEGAL LIABILITY: I understand and agree that the company is not responsible for any delays caused by unavailability of parts or shipping by the supplier or transporter or any losses or downtime relating to such delays, nor is it responsible for loss or damage to the vehicle or articles left in the vehicle in the event of fire, theft, or any other cause beyond its control. The company will not be responsible for personal property. You and your representative agree to hold the company harmless and not liable for any missing or damaged property

WARNING: Products being sold to you can expose you to chemicals which are known to the State of California to cause cancer, birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

Customer Signature:	Date:	
---------------------	-------	--